3

Jr

N | —
N

&

3

+

1 <1 Tne 1 +a 1+ a <1+ 1
R —_ _— = — T —_— = - —_— — _— =
2 " a z, 2z, \'" x, 2 222 T2 2a
l’nWS:)52:a
21, 2, = x5 +a =25 =5 +a= s> =a
xy >0
a=2 x, 1 antiton z,, /2
T, L = —+—
2,

Q nicht voll



r,=1/4

konv/Lim {

=0
o div
xn—i— =1 + 37%

2+, 1 konv/Lim
xXr = pry
n—+ 1 +l’n n+ 1+xn
T, = 0
5/8 konv/Lim
Tt T Ty a2
O0<z,<a
22 konv/Lim
T, =22, — —
a
a, ~™Na>0
a, = 1 _
1 —s J bestimme a
a , =1+— 1
mr a’n a’TL —a < n—+1
a

=1 1 ) /
{% — = g, N +2\/_:\/1+\/1+ 1+ 41+ --- Kettenwurzel
X = Ty

voll 1|oo

l'n - f——
SR SR Ltz 1|oo =%

contr

Yn —_\/]‘l‘ — 1 — <
v X +y_

1 /1
1’721+21+In=>52:1—|—5=>52—5—1:():)5:5_’_ Z_i_l: 5

(I+2)—(1+y) T —y

r—y

1+5

z,=1
konv/Lim { 0
xn-‘,— = an
Ty=a
abeE R T =
Tp+T,_
:L.’I’L-f- e —

2

2



